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MHHRAS X BU(SSEMYLE/THHLT - 212 9) 3,470,000 3,700,001 /230,001
2,082,000
713,000
675,000

= N W

Foflats X 2l 3,470,000 3,700,001 230,001
2,082,000
713,000
675,000

= HnH

Sl &SN AE (=) 2,470,000 1,867,001 602,999
1,482,000
593,000
395,000

=z HnH

401 AIEHIZ 20U 2,470,000 1,867,001 602,999
,482,000
593,000
395,000

—_

= N W

01 Al£Hl 2,461,108 1,860,279 600,829
O=HE X7 =oiasSA HAAY
1,235,000& = 2,000m * 99.64/100 2,461,108

,482,000
593,000
386,108

03 AIZ SR04l 8,892 6,722 2,170

—

=z HnH




A X==2 T
HH: THolAEX HH(SSENMULSH/THLT - 212)

-

Sol ajas 2 (eel: &
_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2
OSHE NP 2HA4SK HLAAY
1,235,0002 * 2,000m * 0.36/100 8,892
Rbet Tl oH 21 8 X R Bl (=) 1,000,000 1,833,000 833,000
=2 600,000
< 120,000
Al 280,000
401 AlEHIL2OHY] 1,000,000 0 1,000,000
= 600,000
= 120,000
Al 280,000
01 A& 993,700 0 993,700
OSHE SHND WA X AHYI AL
1,000,0002 * 1,000m * 99.37/100 993,700
=2 600,000
< 120,000
Al 273,700
03 Al& =i 6,300 0 6,300
OSHE SHND WAHEX DAL
1,000,000 * 1,000m * 0.63/100 6,300
WHSAFHI (XL D) (JIIEH/IIEH) 100,755 84,629 16,126
olzi2 o] 5,400 4,980 420
olzi2 o] 5,400 4,980 420
203 PREXY| 4,200 3,780 420
04 PNSAYLFT| 4,200 3,780 420
OXI 4= 2t 4,200
—ENSYYRETY 350,000 * 128 4,200
204 LA 1,200 1,200 0
01 X2Z Y482 1,200 1,200 0
OXMZLREXH  100,0008 * 1Y * 128 1,200
o=l 95,355 79.649 15,706
122l 95,355 79.649 15,706
201 Lere gl 20,175 16,409 3,766
01 AFR22/H| 20,175 16,409 3,766
O=AEX PUHI(MIIE)
13,0008 * 218 A « 122 3,276
OS2044lHl 50008 * 64 « 21Y * 122 7,560
oget 242 100,008 * 128 1,200
OARE TATAYI 50,0008 + 122 600
OARE £4Y| 8,520
— =AD&l 500,0008 * 1.5CH 750
—oaly 4el 10,0008 * 5CH * 50/100 250
—=AD| &Y 200,0008! * 53] » 1.50H 1,500
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AT X2
M HY2IZHI(X=LTH D) (OIEH/IIE)
el: J1=2&l

_ _ _ Muo
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
—ZEEI(EY) EH
200,000& = 53| = 5CH 5,000
—pc==cl 100,000& = 21CH * 20/100 420
—JIEt ==cl4] 50,000& * 12& 600
OJIEt At 2teld] 5,000 » 21" = 123 1,260
Oulat = 22,416,000& * -10/100 N2,241
202 O4H| 75,180 63,240 11,940
01 WY 75,180 63,240 11,940
OXl==2ZM HRFE 0 75,180
—ZHHOHl 20,0003 * 12 * 21H » 128 60,480
— 22yl 70,000& * 10& * 219H 14,700
NRes(XA>LTHU)(SSEALHA/THHET - 21gke) 280,396 256,463 23,933
LHEHHXI = 280,396 256,463 23,933
HEHHKIE 280,396 256,463 23,933
02 JISEE=2 280,396 256,463 23,933
01 JI=sd&E= 280,396 256,463 23,933
OM-t2elI3EE (MY & oMz 2 G
7%) 84,118,633,530& * 1/3 = 1/100 280,396
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